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1. Find the equation of the locus of a point that moves 2. Find the equation of the locus of a point P that
so that it is always 5 units from (-1, 3). Describe moves so that it is 3 times as far from the point
the shape of this locus. " A(3, —4) as from the point B(-1, -5).
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3. Find the equation of the locus of a point moving so 4. Point P moves so that
that it is equidistant from the points (3, 3) and PA’ + PB* = 10
(-2, 1. where A and B are (2, 0) and (—2, 0) respectively.

Find the equation of the locus and sketch it on the
number plane.
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5. Find the equation of the locus of a point that moves
5o that its distance from the line
Ix -4y +9=0
is always 5.

6. Find the equation of the locus of a point moving so
that it is equidistant from the point (— 1, 5) and the
line x = 3.
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7. Find the equation of the locus of a point that is 8. Show that the equa[ion of the locus of a poin‘
equidistant from the point (2, ~2) and the line moving so that it is equidistant from the point (0, b)
y =5 and the line y = —b is given by x° = 4by.
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Locus

1. (x+ 1
orx’ + 2x + y
Circle with radius

-
<

2

. PA?

(x = 3 + (v +

+p -3 =25
-6y —-15=0
5 units and centre (-1, 3).
PA = 3PB
9PB’

[}

(squaring both
sides)
9x + 1)’ + (v + 57

4)?

X -6x+9+y +8 +16

Page §
B =0,
PA = PB
. PA? = PB?

G+ D+ (-5 = =3+ (=)
XH2x+ 14y —10p+25=x"-6x+9
P -10p+8x+17=0

7.x} —4x + 14y - 17 =0

9 + 2x + 1 + )

0
3.10x + 4y - 13 =0
4. PA’+PB =10

+ 10y + 25)

9x° + 18x + 9 + 97 + 90p + 225
8x° + 24x + 87 + 82y + 209

Al =2 = (= 0P +[(x+ 27+ (v =0)’] =10
x-4x+4 +y2 +x +4x+4 +)'2 =10

2%+ 2P +8=10

2’ +2) =2
¥ x+y=1
A
Kl Ler=d
—1\ i -
-1
5.3v-4r - 16=0and3x —4r +34=0
(use perpendicular distance)
Parabola as a locus
6.
"4
A-L5) , 54 x=3
44
34
24
14+
+ + u $ t t - x
'47'2‘11 1 2 3} 4
-2-- 11
P(X’ y) LL) B(31 )’)
-34

8.
y
A LO.D)
P(x, y)
- X
y=-b ai
B(X, —b)
B = (x,-b)
PA = PB_'
. PA’ = PB’ ) , R
x=-0+(¢-b==-x +0+Db
Xy -2y +b =) +2by+b
x* = 2by = 2by
L xt = 4by




